17

20

NV 0 2 1=
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Work out 2

n| =

+
L
IS SS]

R R R A AR R R R AR R R AR A AR R R R AR R AR AR R R R AR PR R R R AR PR AR AR AR R R R AR AR AR R R R R R AR AR R R R R AR A RA R R R AR A KRR R
R R R A AR R R R AR R R AR A AR R R R AR R AR AR R R R AR PR R R R AR PR AR AR AR R R R AR AR AR R R R R R AR AR R R R R AR A RA R R R AR A KRR R
IR T R R T T T T TR TT T T
T T Ty

T T Ty

Answer 3 marks
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Find the value of 4

|
|
[~
|

BB RS S SR KRB EE BB EE R RSB B A AE SRR R B RS R R EE R R A E BB S e B e AR R EE BB B R R R AE R A AE A RS B R EE AN SIS EE A AR R

ssssas

B R R R R R R R R KR R R BB R R R R A R R R R R R R R BB BB e R R R R R R R R R BB R R R A R R R R R R R R R B R R

B R R R AR AR AR AR R R AR AR EE R R EE R R EE A A AR A AR R R R R R ER R R AR R R R A AR AR AR R AR R AR R EEE R R RE R R AR A AR A A AR R R R EE AR AR IR E AR AR AR AR AR A B AR P AR R R

1A

. (3 marks)



(d)

b)
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2 3
4§+1§

B R R R R R R R R R R R B R R B R B R R R R R R R R R R R R R R R R R R R R R R R R R R R R R R R R R R R R R R R R R R R R R e e
FEE A AR R R AE AR R AR AR R R R AR R A AR E A A E R A AR E R A E R R R R PR AR R R AR R AR E R AR R R AR E AR R R R AR R R R A AR A AR R A E R R R PR R R R PR R AR R AR R A E R AR R R R R R AR R

B R R R R R R R R R R R B R R B R B R R R R R R R R R R R R R R R R R R R R R R R R R R R R R R R R R R R R R R R R R R R R R e e

Answer 3 marks
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Work out 4= — 1

o | =
tnlra

B R AR RS R R R R R R R R B R R R R R B R R R R R R R B R B R R B B AR B R R R R KR R R R R R R R R R R RS R R RS R AR A

BB A RS R R R R R R R R R R R R R B B R R R R R R B R B RS B B RS B R R R R A AR AR R A R R R R R

sessssssmana .

BB A RS R R R R R R R R R R R R R B B R R R R R R B R B RS B B RS B R R R R A AR AR R A R R R R R

sessssssmana .

B R AR RS R R R R R R R R B R R R R R B R R R R R R R B R B R R B B AR B R R R R KR R R R R R R R R R R RS R R RS R AR A

Answer ...

TR TR TR TR TR RN TR IRR RIS

sassssasaan

(3 marks)

Work out
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TR LR R T R R R T R TR T E T E R R T
TR LR R T R R R T R TR T E T E R R T
TR LR R T R R R T R TR T E T E R R T

TR LR R T R R R T R TR T E T E R R T

- .
Answer 3 FRATKS
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1? c ) r . .
(®) (5) I—j (+) I—(F] M1 5 (+) a or 2.8(+) 3.6 or 3.66 or 3.667
15 15 5 3
=52 Alft |22
15 15 15
:()'l Al o oe or 6.467 or 6.466
15 15
Nov 03 Q20
) _ . .32 9
20 2% 3 M1 AND either o o1 3
e or 41
3 4
s6 3
329 _ Or 12 12
= = — — Al
12 12 5 1
T2
=2 o1l Al |or 2822 M1
12 12 12
L Al
12
1 Al
sC1 2L
12
Mar 04 Q13
Or % + % MI1
- 1049 -
(d) |2 M1 allow 1 error in 14 or 8
15
Or 1.6,4.66.4.67, 4.6
=19 70 24 -
_ 519 / = Y 4 M1 ft
15 Ml 15 15
) =2 Al Accept 6.26
=6 Al 15
sc1 2
15
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13 7 .
(b) 373 M1 Allow one error in 13 or 7
65 21 o
BRTRERT] M1 Allow one error in 65 or 21
=M o2t . A ot aithor
5 ‘15 Al Accept either
Al 2
or 3— - = oe
3 5
S 6 S vy 6
—(3)3(—)3 or (4)E( )(1)15 MI
=31 M1
15
=22 Al
15
sc13L
15
433...—-14 M1
Mar 05 Q14
(e) s8 .2 M1 or L +3L (accept 1 error)
24 24 3 8
29 =349 (accept | error in total)
:5:_ M1 24 .,924
‘4 SC1 2 oe
6= Al 99 e
24 24




